

DELHI URBAN SHELTER IMPROVEMENT BOARD

Government of National Capital Territory of Delhi OFFICE OF THE EXECUTIVE ENGINEER (C-6)

1, Kilokri, Ring Road, New Delhi - 110 014

No.: NIQ No.18/WJ-6996/TC/EE/C-6/DUSIB/2017-18

Dated:

13.11.2017

NOTICE INVITING QUOTATION NO.18

Sealed percentage rate quotations are invited from the registered/specialized agency of appropriate class for under mentioned work by the undersigned on behalf of DUSIB by 3.30 PM upto 15.11.2017 which shall be opened on the same day at 4.00 PM in the presence of intending quotationers or their representatives in the office of the Executive Engineer, C-6 at 1, Kilokri, Ring Road, Opp. Maharani Bagh, New Delhi – 110 014. The schedule of item/quotation documents including terms and conditions can be had from the office of the undersigned up to 3.00 PM on dated 15.11.2017.

NOW

Swachh Bharat Mission (SBM)

Sub Head

Construction of septic tank in JSC at JJ Basti Indira Kalyan Vihar

near Dustbin, Okhla Industrial Area, Ph.-I

Estt. Cost.

Rs.8,00,203.00

Time

30 days.

TERMS & CONDITIONS

- 1. The work shall be carried out as per CPWD specifications.
- 2. Cement/Steel required shall be arranged by the Agency and same shall confirm to relevant specifications/I.S. Code.
- 3. Payment shall be made as per actual measurement at site of work.
- 4. No T&P shall be issued.
- 5. No extra charges shall be paid except for the rates quoted.
- 6. Conditional quotations shall be liable to rejection.
- 7. For any disputes the mater shall be referred to SE-II, DUSIB for final decision and the same shall be binding upon both the parties.
- 8. Time allowed for completion of work shall be **30 days** which shall be reckoned from the date after the date of approval from competent authority.
- 9. Statutory taxes and Security Deposit shall be deducted from bills of Contractor. Security shall be refunded after three months of completion of work.
- 10. Necessary statutory deductions will be made as per prevailing law.
- 11. Work shall be completed to the satisfaction of Engineer-in-Charge.
- 12. Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.
- 13. The Contractors are required to comply with labour rules w.r.t. leave medical and minimum wages etc.

Executive Engineer / C-6

Distribution:

- Notice Board
- 2. Office copy
- 3. Guard file.

Executive Engineer / C-6 \3

61.	Ref.				Estimated Rate		
No.			No. or	Unit	Figure	Words	AMOUNT Rs. P
.00	2.6.1	Earth work in excavation by mechanical means	Qty.	Onit	rigure	Words	
,00	2.6.1	(Hydraulic excavator) / manual means over areas (excluding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead upto 50 m and lift upto 1.5 m; disposed earth to be levelled and neatly dressed All kinds of soil	206.37	cum	155.60	Rupees One Hundred & Fifty Five - Paise Sixty Only	32111.17
.00	2.25	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundation etc. in layers not exceeding 20cm in depth: consolidating each deposited layer by ramming and watering lead up to 50m and lift upto 1.5m				Rupees One Hundred & Twelve - Paise	
			165.1	cum	112.40	Fourty Only	18557.24
3.00	2.26	Extra for every additional lift of 1.5 m or part thereof in:					
3.10	2.26.1	All kinds of soil .	65	cum	46.25	Rupees Fourty Six - Paise Twenty Five Only	3006.2
4.00	4.1	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering. All work upto plinth level.					
4.10	4.1.3	1:2:4(1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	3.3	cum	5466.30	Rupees Five Thousand Four Hundred & Sixty Six - Paise Thirty Only	18038.7
4.20	4.1.10	1:5:10(1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size)	9.75	cum	4004.00	Rupees Four Thousand & Four Only	39039.0
5.00	Appd Item	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15 ⁰ landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto floor five level excluding the cost of centring, shuttering, finishing and reinforcement with 1:1.5:3 (1 Cement :1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size)	0.34	cum	7282.50	Rupees Seven Thousand Two Hundred & Eighty Two - Paise Fifty Only	2476.0
6.00	5.9	Centring and shuttering including strutting, propping etc. and removal of form for :					
6.10	5.9.3	Suspended floor, roofs, landings, balconies and access platform.	39.14	sqm	401.65	Rupees Four Hundred & One - Paise Sixty Five Only	15720.5
6.20	5.9.5	Lintels, beams, plinth beams, griders, bressumers and cantilevers.	3.09	sqm	332.15	Rupees Three Hundred & Thirty Two - Paise Fifteen	1026.
7.00	5.22	Steel Reinforcement for R.C.C work including straightening, cutting, bending placing in position and binding all complete. Upto plinth level	0.00	Oqiii	302110		
7.10	5.22.6	Thermo-Mechanically Treated bars. (TMT bars)	3148.75	kilogi	68.10	Rupees Sixty Eight - Paise Ten Only	214429.

0.00	0.00	arodo consents for military in pushout ready mixed M-20		THE CO			Park Frank
		grade concrete for reinforced cement concrete work, using cement content as per approved design mix,				Ruman Fish	
		manufactured in fully automatic batching plant and					
		transported to site of work in transit mixer for all leads, having continuous agitated mixer, manufactured as per					
		mix design of specified grade for reinforced cement					
180		concrete work, including pumping of R.M.C. from					
	en.	transit mixer to site of laying, excluding the cost of centering, shuttering finishing and reinforcement,				ne selbane	
		including cost of admixtures in recommended					
	7.00	proportions as per IS : 9103 to accelerate / retard				AISMEN THAT	
-		setting of concrete, improve workability without impairing strength and durability as per direction of the				in the state of	
		Engineer - in - charge.		==			
	2000	(Note :- Cement content considered in this item is @ 330 kg/cum. Excess/less cement used as per design				CONTRACTOR	- L. B G C
		mix is payable/recoverable separately).					
8.10	5.33.1	All works upto plinth level					
0.10	0.00.1	All works apto pilitat level				Rupees Six Thousand Six	
				in the	74,171	Hundred &	984.00
		等人的。				Fourty Four -	
			24.85	cum	6644.60	Paise Sixty Only	165118.31
9.00	6.1	Brick work with common burnt clay F.P.S. (non			~	N. S.	V
		modular) bricks of class designation 7.5 in foundation and plinth in					
9.10	6.1.1	Cement mortar 1:4 (1 cement : 4 coarse sand)				Rupees Four	
						Thousand Nine Hundred &	
						Eighteen -	
			74.50			Paise Sixty	
10.00	13.4	12 mm cement plaster of mix:	71.59	cum	4918.65	Five Only	352126.15
10.10	13.4.1	1:4 (1 cement : 4 coarse sand)					
						Rupees One	
				-		Hundred &	
						Seventy Two - Paise Thirty	
0.00			103.64	sqm	172.30	Only	17857.17
11.00	13.5	15 mm cement plaster on rough side of single or half brick wall of mix:					
				13370			
11.10	13.5.1	1:4 (1 cement : 4 coarse sand)	Thene				
						Rupees Two	
						Hundred - Paise Five	
40.00	10.10	AND SHOULD BEAUTY OF THE STATE	1.2	sqm	200.05	Only	240.06
12.00	13.16	6 mm cement plaster to ceiling of mix:					
12.10	13.16.1	1:3 (1 cement : 3 fine sand)		100		Rupees One	
						Hundred &	
				Thirty Four - Paise Seventy			
13.00	13.18	Neat cement punning	33	sqm	134.70	Only	4445.10
						Rupees	
						Fourty One -	
			181.84	sqm	41.40	Paise Fourty Only	7528.18
14.00	17.35	Providing and fixing soil, waste and vent pipes	1				V
14.10	17.35.1	100 mm dia.					
14.20	17.35.1	Sand cast iron S & S pipe as per IS : 1729				10/3/25	
						Rupees Eight	
	The second		0	met	050.00	Hundred &	
15.00	17.39	Providing and fixing plain bend of required degree	8	metre	859.00	Fifty Nine Only	6872.00
15.10	17.39.1	100 mm					
A SHA	Fall I						

Code Description of work Qty. Unit Figure Words Rs. 5.20 17.39.1 Sand cast iron S&S as per IS : 1729 1 Rupees Four Hundred & Thirty Four - Paise Fifty 6.00 17.56 Providing and fixing terminal guard: 6.10 17.56.1 100 mm 6.20 17.56.1 Sand cast iron S&S as per IS : 1729 1 Rupees Two Hundred & Fourty Eight - Paise Sixty 7.00 17.58 Providing lead caulked joints to sand cast iron / centrifugally cast (spun) iron pipes and fitting of diameter 7.10 17.58.1 100mm 8.00 19.19 Providing and fixing in position precast R.C.C. manhole cover and frame of required shape and approved quality 8.10 19.19.3 H D -20 8.20 19.19.3 Circular shape 560 mm internal diameter. 1 Less 12% on cost index as per order of Govt. of NCT of Delhi 1 1738.1 100mm 8 each 243.75 Rupees Two Hundred & 1950-1950-1950-1950-1950-1950-1950-1950-		The second second second	Description of work			Estimated Rate		
1					Unit	Figure	Words	AMOUNT Rs. F
6.00 17.56. Providing and fixing terminal guard: 6.10 17.56.1 100 mm 6.20 17.56.1 Sand cast iron S&S as per IS : 1729 1.1 Sand cast iron S&S as per IS : 1729 1.2 Rupees Two Hundred & Fourty Eight Paise Sixty Paise Sixty Pive Only 994. 7.00 17.58. Providing lead caulked joints to sand cast iron / centrifugally cast (spun) iron pipes and fitting of diameter 7.10 17.58.1 100mm 8 each 243.75 Rupees Two Hundred & 1950.4 8.00 19.19 Providing and fixing in position precast R.C.C. manhole cover and frame of required shape and approved quality 8.10 19.19.3 H.D20 8.20 19.19.3 Circular shape 560 mm internal diameter. 1.1 Less 12% on cost index as per order of Govt. of NCT of Delhi 1.2 Rupees One Thousand Five Hundred & Eleven - Paise Fifty Five Only 1.3 Rupees - Paise Twelve Only 1.4 Paise Sixty Pive Only 1.5 Rupees One Thousand Five Hundred & Eleven - Paise Fifty Five Only 1.5 Paise Twelve Only	15.20		Sand cast iron S&S as per IS : 1729	4	each	434 50	Hundred & Thirty Four - Paise Fifty	1738 00
6.20 17.56.1 Sand cast iron S&S as per IS: 1729 1	16.00	17.56	Providing and fixing terminal guard:	V	Cuon	101.00	Olliy	1700.00
1.1	16.10	17.56.1	100 mm			58		
7.00 17.58 Providing lead caulked joints to sand cast iron / centrifugally cast (spun) iron pipes and fitting of diameter 7.10 17.58.1 100mm 8 each 243.75 Rupees Two Hundred & 1950.4 8.00 19.19 Providing and fixing in position precast R.C.C. manhole cover and frame of required shape and approved quality 8.10 19.19.3 H D -20 Rupees One Thousand Five Hundred & Eleven - Paise Hundred & Eleven - Paise Fifty Five Only 6046. Less 12% on cost index as per order of Govt. of NCT of Delhi 909321.07 each 0.12 Rupees - Paise Twelve Only -109118.	16.20	.1	Sand cast iron S&S as per IS : 1729	4	each	248.65	Hundred & Fourty Eight - Paise Sixty	994.60
8.00 19.19 Providing and fixing in position precast R.C.C. manhole cover and frame of required shape and approved quality 8.10 19.19.3 H D -20 8.20 19.19.3 Circular shape 560 mm internal diameter. 1	17.00	17.58	centrifugally cast (spun) iron pipes and fitting of					
8.00 19.19 Providing and fixing in position precast R.C.C. manhole cover and frame of required shape and approved quality 8.10 19.19.3 H D -20 8.20 19.19.3 Circular shape 560 mm internal diameter. 1	17.10	17.58.1	100mm	8	each	243.75		1950-00
8.20 19.19.3 Circular shape 560 mm internal diameter. 1	18.00	19.19	cover and frame of required shape and approved		4	210.70	Transite d	, , , , , , , , , , , , , , , , , , , ,
Less 12% on cost index as per order of Govt. of NCT of Delhi NCT of Delhi Rupees One Thousand Five Hundred & Eleven - Paise Fifty Five Only each 0.12 Rupees - Paise Twelve Only -109118.	18.10	19.19.3	H D -20					
Less 12% on cost index as per order of Govt. of NCT of Delhi NCT of Delhi Paise Twelve Only -109118.	18.20		Circular shape 560 mm internal diameter.	4	each	1511.55	Thousand Five Hundred & Eleven - Paise	6046.20
				909321.07	1		Rupees - Paise Twelve	
Total 800202.								-109118.53
			Total					800202.54